[ulZJCONCEPTS

GT500 STYLE SPOILER

(2015+ MUSTANG)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) Spoiler

(2) “1” Brackets

(2) “2” Brackets

(2) “3” Brackets

(4) M8x1.25 x 15mm Allen Bolts
(2) M8x1.25 x 25mm Hex Bolts
(6) M8 Flat Washers

(24) M6x1.00 x 12mm Allen Bolts
(4) M6x1.00 x 25mm Allen Bolts
(6) M6 Flat Washers

(4) Phillips Bolts

TOOLS REQUIRED

4mm, 6mm Allen Keys
10mm Wrench

Stubby Phillips Screwdriver
Drill & Drill Bits

SKU # 426368 , 426369
Edited: 5/27/2022



[lZCONCEPTS

STEP1

Place the spoiler on a soft surface. Install brackets labeled “3” using (6) M6 x 12mm Allen bolts
per bracket. Tighten until the brackets are secure.

Note: The brackets are meant to fit into the cutout in the spoiler, then secured.

STEP 2

Assemble bracket “1” and “2” together using (3) M6 x 12mm Allen bolts.



[lZCONCEPTS

STEP 3

Secure the assembled “1” and “2” brackets to the spoiler bracket “3” using (2) M6 x 25mm Allen
bolts, (4) M6 flat washers, and (2) M6 nuts per side.

Note: Ensure “3” bracket is mounted on the inside of the spoiler.

STEP 4

Adhere the provided 3M tape to each spoiler mounting bracket.



[lZICONCEPTS

STEP 5

Using the included drilling template strips, align each strip to the threaded holes in base of the
assembly. Once adhered to the spoiler, peel the tape backing and place the spoiler to the vehicle
trunk lid and allow adhesion to the vehicle. Remove the spoiler, and drill the mounting holes
using a 17/64” drill bit.

Note: Some holes will be the same if vehicle was equipped with an OEM spoiler.

STEP 6

With the trunk lid drilled, expand the inner trunk lid holes if necessary. Install (2) M8 x 15mm Allen
bolts into the inner bolt holes, and (1) M8 x 25mm Hex bolts into the outer bolt hole. Include (1) M8
flat washer per spoiler mounting bolt.



[lZCONCEPTS

STEP 7

Install the spoiler inner end caps using (3) M6 x 15mm Allen bolts. Tighten until secure.

STEP 8

Place the spoiler outer end caps onto the inner end cap, the outer clips will audibly click into place
when secure. Secure the outer end cap using (2) Phillips head screws through the inner end cap.



[lZICONCEPTS

STEP9

Installation is now complete.




	426368 426369 - MP Concepts - GT500 Style Spoiler (15+ Mustang)-01
	426368 426369 - MP Concepts - GT500 Style Spoiler (15+ Mustang)-02
	426368 426369 - MP Concepts - GT500 Style Spoiler (15+ Mustang)-03
	426368 426369 - MP Concepts - GT500 Style Spoiler (15+ Mustang)-04
	426368 426369 - MP Concepts - GT500 Style Spoiler (15+ Mustang)-05
	426368 426369 - MP Concepts - GT500 Style Spoiler (15+ Mustang)-06

